A B c | D E | F G | H | | J
= (4) Mounting Holes 5 [0.20]
= S for M5 [#10] Screws. . .
2 68 [2.68] = See Detail A for top Coolllng fan
1 (=2 o ) . . ocation
© N mounting hole dimensions
PN I ll Air
vi) | N
] = o
Keypad
——— - @5.5 [©0.22]
2 — S
——1 ~
—_— © 4
—_— A
— —
= ©'| z ! 1
@ =5 — -
A == [—
=) < g | — \
3 R & Nameplate | C— @12 [30.47]
H —_—
T @ — Detail A
a —————— Top mounting hole dimensions
I § = — Scale 1:1
: o
- om ||| S =1
] oo | o] —_—
4 ; o
1 . LF E
] = Air
©| 525207 55 [2.17] _5[0.20]
—_ T
[ee]
5 10 [0.39] 160 [6.30] 10 [0.39] 2.7[0.11] 196 [7.72]
HORIZONTAL MTG DIM
180 [7.09]
1 1
6 H
N 1 :
C/C:  |INPUT VOLTAGE | WEIGHT |COOLING
GA500 (VAC) Kg (Ib) FANS
7
=[° °l= 2086000 | Coian) | 60(132) 2
E 4031000 380 TO 480 5.5(12.1) 2
N, 4038000 3-PHASE 5.5 (12.1) 2
] ” J o] o denotes A-Z
i ] ©y
8 _@_ —1 DRWN. | J. MATTAS 6-28-19 |TITLE SIZE A |PAGE 10F 4 REV
YASKAWA — CHKD. | J. PIOTROWSKI 8-7-19 GA500 DIMENSION DRAWING DWG.NO. 0
UNITS MM [IN] | TECH. |L. UDDIN 9-8-19 FRAME SIZE 6
SCALE 14 |APRV. |J. CARO 91819 | 'P20 ENCLOSURE WITH EMC FILTER DD.GA50.FR6.IP20.EMC




I— A C D | E | F | G | H | J
Terminal and Wiring Information for GA5002056
1
FRONT VIEW BOTTOM VIEW
_ | 166 [6.54]
‘ Refer to DD.GA50.CONTROLBOARD
i drawing for Control Circuit Board details
2 )
] _“ Base Point of
- (. Control Circuit Board
3 EMC Filter Switch Lﬂ;é//’////’ o — - =
See Detail A P o . - 5
i/ 2/ o0
R % =] = e3
— | = o | =
. 5 2|0
8, Rls
Main Circuit Terminals 3 ) g l=[° O_‘I = = %
4 with M5 Screws; |I| © o, P § _E’% o
Slotted (-) — ~ o MRS
N 5 3 < 3E
™~ NllOf
— 0 ! ! e
% 8 irrnl [ i
i i
5 12.4 [0.49] 2xP15=30 [1.18]
_ o , 53.5 [2.11] 2xP15=29.5 [1.16]
Main Circuit Terminals
with M4 Screws; (€] -
Slotted (-) 98.4 [3.87] 10.2 [0.40]
6
[EMC FILTER SWITCH| Grounding Terminals 123 [4.84] 2xP15=30 [1.18]
with M6 Screws;
— Phillips(+)/Slotted(-) combo
CIC: TERMINAL WIRE RANGE | TERMINAL | CLAMPING TORQUE
GAS500 SYMBOL AWG (mn) SCREW N.m. (Ib.in.)
R/L1, S/L2, TIL3 8-2 (10 - 35) M5 4.5 (40)
7 UIT1, VIT2, WIT3 8-2 (10 - 35) M5 45 (40)
2056000 - 41, 42 8-2 (10 - 35) M5 45 (40)
B1, B2 14-6 (2.5-16) M4 1.7 (15)
. ® 8-4 (10 - 25) M6 54-6.0 (48 - 53)
-] Detail A o Denotes A-Z
Scale 1:1 Note: Refer to applicable codes and standards for proper wire type and size.
M4 Screw
6 @ — [DRWN.[J. MATTAS 6-28-19 |TITLE SIZE A |pAGE 20F4 |REV
YAS '(AWA — |CHKD. |J. PIOTROWSKI _|8-7-19 GA500 DIMENSION DRAWING  [BWG.NO. 0
UNITS MM [IN] | TECH. |L. UDDIN 9-8-19 FRAME SIZE 6
SCALE 13 |APRV. |J. CARRO 91819 | 'P20 ENCLOSURE WITH EMC FILTER DD.GA50.FR6.IP20.EMC




c | D | E | F

| G | H

w

I

Terminal and Wiring Information for GA5004031 and GA5004038

FRONT VIEW

166 [6.54]

BOTTOM VIEW

Refer to DD.GA50.CONTROLBOARD
drawing for Control Circuit Board details

- _“ Base Point of
- c Control Circuit Board
EMC Filter Switch Lﬂ;é//’ I -
S A I / // A I ©
ee Detail A !y /,< b _ T | ©
iy AN s
Y ( Ak
Iy 1% & — ] [ S| 3
> g 2|5
S, Rls
Main Circuit Terminals s ) 3 =l ¢ °l=l . g
with M4 Screws; |I| © o, o Yce o
Slotted (-) = ~ o I 8 =
N~ > [ © =
= >® <58
10 ! I ] =
S T i
i i
15.6 [0.61] 2xP10.2=20.3 [0.80]
e . T 54 [2.13] 2xP15=30 [1.18]
Main Circuit Terminals C -
with M5 Screws; ® | ® |
Slotted (-) 98.5 [3.88] 4xP10.2=40.6 [1.60]
Grounding Terminals
with M6 Screws;
Phillips(+)/Slotted(-) combo
CIC: TERMINAL WIRE RANGE | TERMINAL | CLAMPING TORQUE
GA500 SYMBOL AWG (mm’) SCREW N.m. (Ib.in.)
RIL1, SIL2, TIL3 14-6 (2.5- 16) M4 1.7 (15)
4031000 UIT1, VT2, WIT3 14-6 (2.5-16) M4 1.7 (15)
4038000 -, 1, 42 8-2 (10-35) M5 4.5 (40)
B1, B2 14-6 (2.5-16) M4 1.7 (15)
. ) 10-6 (6 - 16) M6 54-6.0 (48 - 53)
Detail A o Denotes A-Z
Scale 1:1 Note: Refer to applicable codes and standards for proper wire type and size.
M4 Screw
_@_ —1 DRWN. | J. MATTAS 6-28-19 |TITLE SIZE A |PAGE 30F 4 REV
YAS I(AWA —1I  [cHKD. |J. PIOTROWSKI [8-7-19 GA500 DIMENSION DRAWING DWG.NO. 0
UNITS MM [IN]| TECH. |L. UDDIN 9-8-19 FRAME SIZE 6
SCALE 13 |APRV. |J. CARRO 91819 | 'P20 ENCLOSURE WITH EMC FILTER DD.GA50.FR6.IP20.EMC




I— A B | c | D E F G | H | | | J
Minimum Installation Clearances Panel Cutout
Scale 1:4 For External Heatsink Mounting Configuration
1 (4)-25 [20.20] Scale 1:3
160 [6.30]
] ’ (4)-M5 [#10]
Threaded Hole 110 [4.33]
E Customer Panel
- Air - Air zz= =,
2 5 5 2 )
&, ° 7t /] [/
o
; =
|
3 |
|
|
|
& ) CU'IJ-OUT g
4 ] I R I <
o © | ~
~— o | [e0]
™ ™ | N
_ 30[1.18] 30[1.18] |
|
5
g
6 3
L4 [a2] 4
: _ ZH
o . » T
Air =z~ - - Ajr =
— 3 180 [7.09]
/
7
Notes:
Note: Exposed heatsink minimum clearance = 60 [2.36].
| For alternate mounting configurations, consult manual. Refer to external heatsink instructions document for additional details.
8 _@_ —1 DRWN. | J. MATTAS 6-28-19 |[TITLE SIZE A |PAGE 4 0OF 4 REV
YASKAWA — CHKD. [ J. PIOTROWSKI 8-7-19 GA500 DIMENSION DRAWING DWG.NO. 0
UNITS MM [IN] | TECH. |L. UDDIN 9-8-19 FRAME SIZE 6
SCALE ABOVE| APRV. |J. CAIRO 91819 | 'P20 ENCLOSURE WITH EMC FILTER DD.GA50.FR6.IP20.EMC




	Sheets and Views
	DD.GA50.FR6.IP20.EMC-PAGE 1
	DD.GA50.FR6.IP20.EMC-PAGE 2
	DD.GA50.FR6.IP20.EMC-PAGE 3
	DD.GA50.FR6.IP20.EMC-PAGE 4


